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Notes

3.1 Independent and Dependent
Relationships and Domain and
Range

Independent | The event or variable that stands by itself, it is the
Variable cause

The Input or x variable and is plotted on the x-axis

Dependent | The event or variable that depends on the
Variable independent variable and changes'depending on it

The Output oriy variable and is plotted on the y-axis

Independent Variable Ex. | Dependent Variables Ex.

time worked, Deperids on money earned,
age, /-\ height,
number of objects total cost

bought
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Determining
Independent
and
Dependent
Variables

Ask yourself: which variable depends on the other?
This will be the dependent variable

Car insurance costs increase with traffic violations
and accidents
Independent X: Tro\—g:‘ C V\'Co lotvons
Lol

Dependent V: Co\r nSorance CodSt

Ice cream sales increase as the temperature
increases

Independent X: Tem P-efé\:\'\) ne

Dependent Y: N.CE (fcam Sales
Aiden charges $25 per hour to fix your computer

Independent X: .3 hours worked

Dependent : Cos¥ b &% wmw].u-

States with larger population have more seats in the
House of Representatives

Independent X: eoeu\ whon Si2e

Dependent V: 4 o Seads {a the
Howse of g(f(ﬂmws

Let's Explore Domain and Range more!

Go to student.desmos.com

and type in:

YYWA5SK

October 28, 2020
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Domain and When points are connected by a curved line, then
Range for there would be too many values to write all the
connected values of the ordered pairs as a set (we would have
points to include every decimal between each two integer
numbers)...
So instead we use inequalities
Domain: leftmost x value < X < rightmost x value
ex. -4<x<9
Range: lowesty value <y < -highesty value
ex. -2<y«
-use < if the value is not included
-use(£ if the valueiis included
¥ 9. ¥ 3. X
State Il Dis onpected Corw._t)rcl (=
The B [ [ il ‘ = F‘Q:/\h 5 T QOJ\H \ r
Domain . L:“)"H'\?r\ -SACQ\J‘\lI‘NSI 2
and Domain: Domain: Domain:
Range Range: {—‘L 0,1,7) Range: — 0o X <2 Range {\_[ 5, 7},
4 Ay
L] Ve ~}\—\<r<
foreach  __ __ ore yumps
Ia\_l;' fom‘h =
afe CDme(/l-_té [
Domain: Domain: Domain:
Range: . \ Range: _
{Zlo,,?”}Range_%<7l<b@ ange 00()/(00
10. —2x & 4y = 0 .22 +52=§ 12.6= —4 13.y=2
>~ &4 H =+
Domain: Domain: Domain: Domain:
Range: Range: Range: Range:
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State 1
the SunE
Domain !
and Domain:
Range:
Range E = =
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Eomair\: Domain:
ange: Range:
10. —2x 4y = 0 1122 +y2 = §
Domain: Domain:
Range: Range:
1 ¥y 2.
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Range: { _ Range: —
Range R { 1 0,1,2) R
] Yes S
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Domain:
Range:

Domain:
Range:
12,0 = —4 13.y=2
Domain: Domain:
Range: Range:

Domain:

oo <X S 2 Range: o, 5.
e 6. {r / / \7}

Domain:

Range: {Z-'l D, ,’C> Range' ()047(00 Range: _ po < )/(DO

—2x = 4y =0 1.2 +y2=9

+~ ¢

Domain: Domain:
Range: _ = <.\[ { ©9Range:

-3<4y¢3

12.x = —4 13.y=2
Domain: Domain:
Range: Range: Z}
g™ <
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